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R H284EJ¥ H294E JEE H304E J# RITABE R24EFE
AR e || e | TR wewm | TR wam | BRI eex | BE
WA 95, 726 88, 618 81, 472 79, 261 57, 584
/€Sty 25, 007 25, 780 23, 896 28, 985 26, 049
Eh 3,997 4, 261 2,700 2, 354 2, 568
HEFL & 1,071 982 965 1,186 405
IR TR 0 0 0 - -
N ERET 0 27 53 7 0
KIGHRA £ 837 1,002 666 487 371
e T A 12,319 12, 598 16, 793 16, 446 11,922
AT 1 0 0 - -
BrE A 6,930 7, 804 8, 237 8,571 8, 293
¥ [=rrs—arra—rsn 1,748 2,726 3,839 4, 592 3, 460
EE oY hun— L 618 1,037 533
EEEay hr—Lf 45
Al 317 243 2,217 2, 666 2,213
{15 iy 2, 346 1, 780 1,818 2, 441 1,528
£ IRFRIEC R 0 0 0 0 0
IR E £ 9, 153 9, 576 9, 758 9, 284 7,617
B E 542 626 560 562 577
TR & 111 141 - - -
L7 R 57 196 198 91
N 160, 105 [62.4 | 156,221 |62.8 | 153,788 |64.6 | 158,077 |64.9 | 123,256 |64.7
RNy 166
W (st 5, 254 5,630 3,328 3,189 4, 293
gy [FHEE o et | BT, 819 49, 532 40, 433 46, 254 34, 278
feg=ay hr—af| 2,173 4,163 3, 455 953 2, 428
EEEay ha—Af| 14,114 15, 994 13, 069 14, 007 12, 705
” b 9, 344 8, 563 12, 638 11, 167 3, 669
{15 iy 1,137 1,737 1, 656 753 418
RFRIECE 87 118 83 0 14
2 i 609 366 2, 069 1,952 2, 074
= i ERINE Uy 260 112 284 114 74
RELININE 867 1,097 344 631
N 90,797 |35.4 | 87,082 |35.0 | 78,112 [32.8 | 78,733 |32.3 | 60,750 |31.9
F[REN R 797 1,089 989
*:f; (UL YN 104 154 117
L /Gt 901 1,243 1,106
AR G 250,902 |97.8 | 243,303 |97.8 | 232,801 |97.7 | 238,053 |97.7 | 185,112 |97.1
B 5,773 | 2.2 5,367 | 2.2 5,391 | 2.3 5,536 | 2.3 5,466 | 2.9
& &t 256, 675 |100.0 | 248,670 |100.0 | 238,192 |100.0 [ 243,589 |100.0 | 190,578 |100.0
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R HOS4E F H2O4F H304F RICHEE R24EJE

ORI 918 | 53.1 | 1,158 | 56.5 | 1,168 | 54.9 829 | 45.0 795 | 46. 4
A 574 187 223 119 133 129
248 e 731 935 1, 049 696 666
s - i AT 113 | 6.5 134 | 6.5 182 | 8.6 141 | 7.7 129 | 7.5
A 573 38 31 39 52 64
4 ke 75 103 143 89 65
= O 699 | 40.4 757 | 36.9 777 | 36.5 871 | 47.3 791 | 46.1
A e 471 461 520 707 616
248 x 228 296 257 164 175
A I 696 | 40.2 715 | 34.9 678 | 31.9 892 | 48.5 809 | 47.2
i 4 x 1,034 | 59.8 | 1,334 | 65.1 | 1,449 | 68.1 949 | 51.5 906 | 52.8
/El\

&t 1,730 {100.0 | 2,049 [100.0 | 2,127 |100.0 | 1,841 |100.0 [ 1,715 |100.0

SAE A LR = 2RI O RS 5 < B RS X 100




